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LINEAR EQUATION IN ONE VARIABLE

1.Solve: bx — 6 = 4z — 2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JVQAeLo5VCjN

Cx=14
D.z =5
Answer: C

° Watch Video Solution

2.5olve:3x + — =2 — =z


https://dl.doubtnut.com/l/_JVQAeLo5VCjN
https://dl.doubtnut.com/l/_9C60CHRCdC8i

Answer: A

° Watch Video Solution

11

3.Solve: 2y + —
4

Ay— —
YT T 0

B 4 — 5
YT T 0
Cu— 3
YT T

1
-3

y+ 2.



https://dl.doubtnut.com/l/_9C60CHRCdC8i
https://dl.doubtnut.com/l/_e9QPZpXw505S

Answer: D

° Watch Video Solution

4, Solve: +1 —1 5
. ove.4w 6m— 2:1:—|—4.

Axrz =9
B = —9
Cx= —12
D.x = 12
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_e9QPZpXw505S
https://dl.doubtnut.com/l/_gqterzZVEXaS

S5r — 4 x — 3 x+6

5. Solve:

8 5 4
Az =17
B.x =8
Cxz=26
D.z =9
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gqterzZVEXaS
https://dl.doubtnut.com/l/_pBb0t48dUxH9

3.

6.Solve:x — | 22 —
olve:x (w - 3

3:13—4)_ dr — 27

A 2
B.4
C.3

D.6

Answer: D

° Watch Video Solution

2 1 9
7.So|ve:§(a: —5) — Z(gz; —2) = 5


https://dl.doubtnut.com/l/_rZIHoBYsewQh
https://dl.doubtnut.com/l/_24ZKfh6sdWdc

D. none of these

Answer: A

° Watch Video Solution

8.Solve:0.3x + 0.4 = 0.28x + 1.16

A.0.38

B.3.8


https://dl.doubtnut.com/l/_24ZKfh6sdWdc
https://dl.doubtnut.com/l/_FErdvhXiZPbw

C. 380

D. 38

Answer: D

° Watch Video Solution

Problem Base

1. Nine added to thrice a whole number given 45.

Find the number

A 12


https://dl.doubtnut.com/l/_FErdvhXiZPbw
https://dl.doubtnut.com/l/_VlRv6ZQBOYGt

B.11

C.10

D.9

Answer: A

o Watch Video Solution

2. Four fifth of a number is greater than three-

fourths of the number by 4. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_VlRv6ZQBOYGt
https://dl.doubtnut.com/l/_HrlGUfxcowvg

3. The sum of two consecutive multiples of 3 is 69.

Find them.

A.33 and 34

B.31 and 35

C.33 and 36

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XMBJbh90RY9O

4. The length of a rectangular plot exceeds its
breadth by 5 meters. If the perimeter of the plot is

142 metres. Find the dimension of the plot.

° Watch Video Solution

5. A number has two digits whose sum is 9. if 27 is
added to the number , its digits get interchanged.

Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_F74Lv9FR5UUW
https://dl.doubtnut.com/l/_aTdtcFNf4h78

6. The numerator of a fraction is 4 less than the
denominator. If 1 is added to both its numerator

and denominator, it become 7 Find the fraction.

N = >

o
w |
NN | :|\,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cK3m6JkRtINX
https://dl.doubtnut.com/l/_XFutpHvrBlXc

7. Rahul father is thrice as old as Rahul after 12

years he will be just twice his son. Find the present

of Rahul's father.

A. 42 years

B. 24 years

C. 36 years

D. 63 years

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XFutpHvrBlXc

8. A dealer earned a profit of 5% by selling a radio

for X714. Find the cost price of the radio.

A. X580

B. X780

C. X680

D. X980

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X8xYfrHUbWrb

9.50 kg of an alloy of lead and tin contains 60% of
lead. How muh lead must be melted into it to make

the alloy cantain 75% of lead?

° Watch Video Solution

1. Solve the following equation.

3r —5=0
A 9
T =3
5 2
T =5


https://dl.doubtnut.com/l/_FH9JyVvgpbfW
https://dl.doubtnut.com/l/_bo7BAkqzFmgg

D. None of the above

Answer: A

° Watch Video Solution

2. Solve the following egations.Check your result in
each case

8X -3 =9-2X

o Watch Video Solution



https://dl.doubtnut.com/l/_bo7BAkqzFmgg
https://dl.doubtnut.com/l/_ED2ydimbVRLu

3. Solve the following egations.Check your result in

each case

7T—-5X=5-7X

° Watch Video Solution

4. Solve the following eqations.Check your result in

each case

3+2X=1-X

° Watch Video Solution



https://dl.doubtnut.com/l/_sTST3yujJfnI
https://dl.doubtnut.com/l/_fFFAEwL7KW6q

5. Solve the following eqgations.Check your result in

each case

2X —2) +34X —1) =0

o Watch Video Solution

6. Solve the following equations.Check your result

in each case

52X —3) —3(3X —T7) =5

° Watch Video Solution



https://dl.doubtnut.com/l/_xO5A5MZzazZ2
https://dl.doubtnut.com/l/_uOrfaeBsbMQi

7. Solve the following egations.Check your result in

each case
2X L = 1 X
3 5

° Watch Video Solution

8. Solve the following equations.Check your result

in each case

1X 3—5—|—1X
2 a 3

° Watch Video Solution



https://dl.doubtnut.com/l/_4hvZVKMiCPe6
https://dl.doubtnut.com/l/_yu6nUif6NJfd

9. Solve the following equations.Check your result

in each case

z. T
2 4 8

° Watch Video Solution

10. Solve the following equations.Check your result
in each case

3z + 2(x +2) =20 — (22 — 5)


https://dl.doubtnut.com/l/_6n8GsMzTwGWW
https://dl.doubtnut.com/l/_cam2LQy5fVFt

Answer: B

° Watch Video Solution

11. Solve the following equations.Check your result

in each case

13(y —4) —3(y—9) — 5(y+4) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_cam2LQy5fVFt
https://dl.doubtnut.com/l/_oVObEmqMwGO0

12. Solve the following egations.Check your result in

each case

(2m + 5) = 3m — 10

° Watch Video Solution

13. Solve the following egations.Check your result in
each case

6(3z +2) —5(6x —1) = 3(z — 8) — 5(7x — 6) + 9z

° Watch Video Solution



https://dl.doubtnut.com/l/_Pqmx3zHdgRRG
https://dl.doubtnut.com/l/_pcCe5Ylh7jTV

14. Solve the following equations.Check your result

in each case

t— (2t +5) —5(1—2t) =2(3+4t) — 3(t — 4)

° Watch Video Solution

15. Solve the following equations.Check your result

in each case
2 B 3 n 7
3773 T 12

° Watch Video Solution



https://dl.doubtnut.com/l/_IKUDJ7srWdM8
https://dl.doubtnut.com/l/_d0MyDrIDxl4J

16. Solve the following equations.Check your result

in each case

3r —1

xr
5 7 =3

o Watch Video Solution

17. Solve the following egations.Check your result in
each case

2 — 3 = 3(5 12)

° Watch Video Solution



https://dl.doubtnut.com/l/_4v674tNJbUEo
https://dl.doubtnut.com/l/_kanHSq4HXZkv

18. Solve the following equations.

—1 —2
ot
Ay=20
B.y = 30
C.y=10
D.y = 50
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5zs6yUOf3kSC

19. Solve the following equation.Check your result

in each case

m—2+1_ 2¢ — 1
4 3 7 3

° Watch Video Solution

20. Solve the following equations.Check your result

in each case

2 — 1 693—2_1
3 5 3
A — 9
LT = 5
B.x = —Z
T 2


https://dl.doubtnut.com/l/_A4NvVBPLesFY
https://dl.doubtnut.com/l/_sJcwNdUru07z

oot o=

Answer: C

° Watch Video Solution

21. Solve the following equations.Check your result

in each case
y+7 3y — 2
<z =1

3 + 5

° Watch Video Solution



https://dl.doubtnut.com/l/_sJcwNdUru07z
https://dl.doubtnut.com/l/_cpyaH9JKshcg

22. Solve the following equation.Check your result

in each case
2 T

o Watch Video Solution

23. Solve the following equation.Check your result

in each case

2w—3+w+3 _dr+1
5 4 7

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0dBLffRQ70v
https://dl.doubtnut.com/l/_Gpsz53ycHGMI

24. Solve the following equation.Check your result

in each case

3 1— 3
—(7:13—1)—(2:13— 2w):m—|——

4

° Watch Video Solution

25. Solve the following equation.Check your result

in each case
T + 2 11 — x 1 3z —4
6 3 4) 12

o Watch Video Solution



https://dl.doubtnut.com/l/_SOXYNiJfx7aB
https://dl.doubtnut.com/l/_WcTMZ8dl3dN5

26. Solve the following equation.Check your result

in each case
9z + 7 r — 2
5 —(m— = )—36

° Watch Video Solution

27. Solve the following equation.Check your result
in each case

0.5z + % — 0.25% + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_NKfVDTR33suW
https://dl.doubtnut.com/l/_MJbkT6NtYnaX

28. Solve the following equations.Check your result

in each case

0.18(5z — 4) = 0.5z + 0.8

o Watch Video Solution

29. Solve the following equations.Check your result

in each case

2.4(3—z)—0.6(2z —3) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_4cWIP9txUgrG
https://dl.doubtnut.com/l/_Y4GED4uBQXaT

30. Solve the following equations.Check your result

in each case

0.5z — (0.8 — 0.2z) = 0.2 — 0.3z

o Watch Video Solution

31. Solve the following equations.Check your result

in each case
T + 2 7
9 =
T 3

° Watch Video Solution



https://dl.doubtnut.com/l/_OxTN3c8etNa5
https://dl.doubtnut.com/l/_reurrCsb9o8v

32. Solve the following equations.Check your result

in each case
2 + 5 _ 5
3z +4

o Watch Video Solution

1. Twice a number when decreased by 7 gives 45.

find the number.

A. 36

B. 26


https://dl.doubtnut.com/l/_ETuJ3xd8Atz1
https://dl.doubtnut.com/l/_85FekFfXuSFa

C.16

D. 46

Answer: B

° Watch Video Solution

2. thrice a number when increased by 5 gives 44.

find the number.

A 14

B.15

C.13


https://dl.doubtnut.com/l/_85FekFfXuSFa
https://dl.doubtnut.com/l/_hQLDY7GsUbU8

D. 14

Answer: C

° Watch Video Solution

3. four added to twice a number yields E find the

fraction.

° Watch Video Solution

4. a number when added to its half gives 72. find

the number.



https://dl.doubtnut.com/l/_hQLDY7GsUbU8
https://dl.doubtnut.com/l/_LA3dgEyh5pxS
https://dl.doubtnut.com/l/_ySoN22fMBChl

‘ ° Watch Video Solution

5. a number added to its two-thirds is equal to 55.

find the number.

° Watch Video Solution

6. A number when multiplied by 4, exceeds itself by

45, find the number.

A 11

B.12


https://dl.doubtnut.com/l/_ySoN22fMBChl
https://dl.doubtnut.com/l/_Mq5xrYKdeQsc
https://dl.doubtnut.com/l/_XzR6Afq50WiB

C.13

D. 15

Answer: D

° Watch Video Solution

7. a number is as much greater than 21 as it is less

than 71. find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_XzR6Afq50WiB
https://dl.doubtnut.com/l/_xOmz5dvj8JvS

8. 3 of a number is less than the original number

by 20 . find the number.

A. 40

B. 60

D. 50

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tdOTEllqiJbW

9. a number is 5 times another number. if their

sum is 70, find the numbers.

° Watch Video Solution

10. two-third of a number is greater than one-third

of the number by 3. find the number.

A7

B.9

C.8

D.6


https://dl.doubtnut.com/l/_pNQgmfAcCwbp
https://dl.doubtnut.com/l/_uE9Mw1mbtPZ1

Answer: B

° Watch Video Solution

11. the fifth part of the number when increased by 5
equals its fourth part decreased by 5. find the

number.

o Watch Video Solution

12. find two consecutive natural numbers whose

sum is 63.

| o Wiak~hh \iAAA CAaliikian



https://dl.doubtnut.com/l/_uE9Mw1mbtPZ1
https://dl.doubtnut.com/l/_vUtbwbZpkLBN
https://dl.doubtnut.com/l/_smIMqnIzk02C

L YVULNIL VIMAGY JVIVLGIVIET ) |

13. find two consecutive positive odd integers

whose sum is 76.

° Watch Video Solution

14. find three consecutive positive even integers

whose sum is 90.

° Watch Video Solution



https://dl.doubtnut.com/l/_smIMqnIzk02C
https://dl.doubtnut.com/l/_Km8ObhiOW978
https://dl.doubtnut.com/l/_rjz7rgwXaOqT

15. divide 184 into two parts such that one-third of
one part may exceed one-seventh of the other part

by 8.

° Watch Video Solution

16. A sum of rupees 500 is in the form of
denominations of rupees 5 and rupees 10. If the
total number of notes 90, find the number of

notes of each type.

o Watch Video Solution



https://dl.doubtnut.com/l/_e3cPCvbp7tKw
https://dl.doubtnut.com/l/_o3fngr7h1LAP
https://dl.doubtnut.com/l/_isKt1k6mcxTk

17. Sumitra has ¥34 in 50-paise and 25-paise coin. If
the number of 25-pasie coin is twice the number of
50-paise coin, hoe many coin of each kind does she

have?

° Watch Video Solution

18. Raju is 19 years younger than his cousin .after 5

years ,their ages will be in the ratio 2:3 find their

present ages

A. 30 years 42 years

B. 33 years 52 years


https://dl.doubtnut.com/l/_isKt1k6mcxTk
https://dl.doubtnut.com/l/_UH1Gn0KhyG5e

C. 30 years 54 year

D. 40 years 12 years

Answer: B

° Watch Video Solution

19. A father is 30 years older than his son . In 12

years the man will be three times as old as his son.

Find their present ages.

A. 27 years 3 years

B. 30 years 3 years


https://dl.doubtnut.com/l/_UH1Gn0KhyG5e
https://dl.doubtnut.com/l/_xYDwxFSWm1VQ

C. 33 years ,3 years

D. 25 years 5 years

Answer: C

° Watch Video Solution

20. The ages of sonal and manoj are in the ratio

7: 5 ten years hence, the ratio of their ages will be

9:7.Find their present ages

A. 40 years 34 years

B. 37 years 27 years


https://dl.doubtnut.com/l/_xYDwxFSWm1VQ
https://dl.doubtnut.com/l/_C3K2S4lLAUxa

C. 35 years 25 years

D. 36 years 26 years

Answer: C

° Watch Video Solution

21. Five years ago a man was seven times asold as
his son. Five yeears hense, the father will be three
time times as old as his son. Find their present

ahes

o Watch Video Solution



https://dl.doubtnut.com/l/_C3K2S4lLAUxa
https://dl.doubtnut.com/l/_TqR2rGMWG3XO
https://dl.doubtnut.com/l/_vq6f8kQYtojg

22. After 12 years | shall be 3 times as old as | was 4

years ago. Find my present age.

° Watch Video Solution

23. In an examination a student requires 40% of
the total marks to pass if rupa gets 185 marks and

fails by 15 marks, Find the total marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_vq6f8kQYtojg
https://dl.doubtnut.com/l/_vQMlLhqUo8PA

24. A number consists of two digits whose sum is
8. If 18 is added to the number its digits are

reversed. Find the number.

° Watch Video Solution

25. The total cost of 3 tables and 2 chairs is 1850. if
a table costs ¥75 more than a chair, Find the price

of chair

° Watch Video Solution



https://dl.doubtnut.com/l/_U1Zz7L2U5RK4
https://dl.doubtnut.com/l/_bKgSylmTOQdT

26. A man sold an article for ¥495 and gained 10%

on it Find the cost price of the article.

° Watch Video Solution

27. The length of a rectangular Field is twice its

breadth. If the perimeter of the field is 150 metres.

Find its length and breadth.

A.60m, 25m

B. 50m, 25m

C.50m, 35m


https://dl.doubtnut.com/l/_AJejGl2Jg3zQ
https://dl.doubtnut.com/l/_JxLbphAuCeMn

D. 70m, 25m

Answer: B

° Watch Video Solution

28. Two equal sides of a triangle are each 5 metres
less than twice the third side. If the perimeter of
the triangle is 55 metres. Find the lengths of its

sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_JxLbphAuCeMn
https://dl.doubtnut.com/l/_hFRSCd8x8W3D

29. Two complementary angles differ by 8° . Find

the angles.

A.40°,50°

B.40°, 60°

C.41°,49°

D. 40°, 48°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aUEmwy5Qs0UY

30. Two supplementary angles differ by 44° . Find

the angles.

A.212°, 68°

B.112°, 88°

C.112°, 68°

D.116°, 68°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HY0zha20SOhe

31. In an Isosceles triangle the base angles are
equal and the vertex angle is twice of each base
angle. Find the measures of the angles of the

triangle.

° Watch Video Solution

3 1
32. Aman travelled 5 of his journey by rail 1 by a

taxi, 1 /8 by a bus and the remaining 2 km on Foot.

What is the length of his total journey?

° Watch Video Solution



https://dl.doubtnut.com/l/_LiCXkGENEJtH
https://dl.doubtnut.com/l/_f7HJpbfdwlnG
https://dl.doubtnut.com/l/_yemmnUnRk7NA

33. A labourer is engaged for 20 days on the
condition that he will receive 120 for each day he
works and will be fined ¥10 for each day he is
absent. If he receive 1880 in all, for how many days
did he remains absent?

A. 2 days

B. 12 days

C. 10 days

D. 4 days

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yemmnUnRk7NA

34. Hari babu left one-third of his property to his
son, one-fourth to his daughter and the remainder
to his wife.lf his wife share is 18000, What was the

worth of his total property?

° Watch Video Solution

35. How much pure alcohol be added to 400 ml of a

15% solution to make its strength 32%?

° Watch Video Solution



https://dl.doubtnut.com/l/_yemmnUnRk7NA
https://dl.doubtnut.com/l/_qJyBvBU4axnE
https://dl.doubtnut.com/l/_YIQ9U981Zj0t

3 2
_ _— —_— — p— ?
1.IF bx 1 2z 3,then T !

C. 36

D."1/36

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_DCLOyMDjOo1g

8 1
2.if 2z + 3 = Zz+ 5, then z=?

A3

0

o
|k x| w

Answer: d

° Watch Video Solution

3.1f(2n + 5) = 3(3n — 10),then n=?


https://dl.doubtnut.com/l/_b3zweCukGEQY
https://dl.doubtnut.com/l/_OkUZiqUiXWSO

A.5

0

=
Wl o

Answer: a

° Watch Video Solution

4. if (x-1)/(x+1)=7/9,then x=?

A.6

B.7


https://dl.doubtnut.com/l/_OkUZiqUiXWSO
https://dl.doubtnut.com/l/_usT6oKuXi7RU

C.8

D. 10

Answer: c

o Watch Video Solution

5.1f8(2¢ — 5) — 6(3z — 7) = 1then x=?

A 2

N

O
w|l— N


https://dl.doubtnut.com/l/_usT6oKuXi7RU
https://dl.doubtnut.com/l/_towUh3EMMuvK

Answer: c

° Watch Video Solution

T x
6.1f — — — =7
5 1= 3—|—4,thenx

A 8
B. 16

C.24

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_towUh3EMMuvK
https://dl.doubtnut.com/l/_zaAeIxEI0niL

2
7.1f = + 1, Thenz = ?

A 2

B.4

C.6

D. 8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zaAeIxEI0niL
https://dl.doubtnut.com/l/_ILoFTsxvLjmR

8. The sum of two consecutive whole number is 53.

the smaller number is

A. 25

B. 26

C.29

D. 23

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_OUGuOH6xPzhj

9. The sum of two consecutive even number is 86.

The large of the two is.

A. 46

C. 38

D. 44

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_muvmoEn1tfuo

10. The sum of two consecutive odd number is 36.

the smaller oneis

A. 15

B.17

C.19

D.13

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3tBZkpy8TmZ4

11. On adding 9 to the twice of a whole number

gives 31. the whole number is

A 21

B. 16

C.17

D.11

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_VWtABTk5foFA

12. Thrice a number when increased by 6 gives 24.

The number is

A.6

B.7

C.8

D.11

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6luwsSWSMleJ

2
13. 3 of a number is less than the orignal number

by 10. The original number is

A. 30

C.45

D. 60

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fiLhZqn5SfFJ

14. Two complementry angles differ by 10° the

larger angle is

A.60°

B.50°

C.64°

D. 54°

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_YD20A8iYyGo7

15. Two supplementary angle differ by 20°. The

smaller of the two measures

A.60°

B.80°

C.100°

D.120°

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_D9Plisi6rJhr

16. The ages of A and B are in the ratio 5: 3 After 6

years. Their ages will be in the ratio 7: 5, A's present

age is

A. dyears

B. 10years

C. 15years

D. 20years

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XJqfzEidmCH6
https://dl.doubtnut.com/l/_Ek5SrK6m92Fg

17. A number when mulitiplied by 5 is increased by

80. The number is

A. 15

B. 20

C.25

D. 30

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Ek5SrK6m92Fg

18. The length of a rectangle is three times its

width and its perimeter is 96 m. The length is

A 12m

B.24m

C.36m

D. 48m

Answer: C

o Watch Video Solution

Test Paper 7 A


https://dl.doubtnut.com/l/_GWkZxkyttWTG

1. Evaluate 23 + ¢ + 2z° — 3zyz when x=2, y=-1 and

z=3.

° Watch Video Solution

Test Paper A

1. Write the coefficient of x in each of the following:

(1) —5zy
(2) 2wy2z

3
(3) — Eabm

° Watch Video Solution



https://dl.doubtnut.com/l/_pVG36whRSEib
https://dl.doubtnut.com/l/_pU8sCN4ZfYVD

2. Subtract z? — 22y + 5y — 4 from

dxy — 5z’ —y* + 6

° Watch Video Solution

3. How much is z?—2zy+ 3y®> less than

2% — 3y® + zy?

° Watch Video Solution



https://dl.doubtnut.com/l/_pU8sCN4ZfYVD
https://dl.doubtnut.com/l/_xjm1YLtGTBom
https://dl.doubtnut.com/l/_bPgmEFo7U521

4, Find the product
3 . 9 25 9.9 2
(gabc) : (—Eab) : (—8bc).

o Watch Video Solution

5.Simplify:(3a + 4)(2a — 3) + (5a — 4)(a + 2).

° Watch Video Solution

6. Sol 3z N 2T Tx N 29
. Solve: =
10 5 25 25

o Watch Video Solution



https://dl.doubtnut.com/l/_67mL9S44YlQ4
https://dl.doubtnut.com/l/_sJ6MYxzIlVwr
https://dl.doubtnut.com/l/_A4S35ZHvI4oN
https://dl.doubtnut.com/l/_bL5Rutkj104g

7.Solve: 0.75x + % = 0.5 + 8.

° Watch Video Solution

8. The sum of two consecutive odd numbers is 68.

Find the numbers.

° Watch Video Solution

9. Reenu father is thrice as old as reenu. After 12
years he will be just twice his daughter Find their

present ages.


https://dl.doubtnut.com/l/_bL5Rutkj104g
https://dl.doubtnut.com/l/_msdtop7vRgx9
https://dl.doubtnut.com/l/_jkoGUHAAL6W1

A. 30 years and 18 years

B. 36 years and 12 years

C. 36 years and 10 years

D. none of these

Answer: B

° Watch Video Solution

Test Paper 7 B

5 1
1.If 2 + 3 = Zw + 4, then x=?

& . .


https://dl.doubtnut.com/l/_jkoGUHAAL6W1
https://dl.doubtnut.com/l/_18dSwrgIipDv

| ¥ Vvvalch video o>oilution J

T T
—_— —_— e =?
2.I1’2 3 — 5, then x=¢

o Watch Video Solution

r — 2 B 2 — 1

3.If
3 3

— 1,then x=?

o Watch Video Solution

4. A number when multiplied by 4 in increased by

54. The number is

| o Wiabkdl . \nNdaa ALt am


https://dl.doubtnut.com/l/_18dSwrgIipDv
https://dl.doubtnut.com/l/_Z7lTZcWSAunH
https://dl.doubtnut.com/l/_58hf8lWDTNNy
https://dl.doubtnut.com/l/_LZDHKVmd3pIj

Yvdilil VIUCY JUIVLIVIE ) )

5. Two complementry angle differby 14° the larger

angle is

° Watch Video Solution

6. The length of a rectangle is three times its width
and its perimeter is 96m. The length of the

rectangle is

° Watch Video Solution



https://dl.doubtnut.com/l/_LZDHKVmd3pIj
https://dl.doubtnut.com/l/_CvMovXvhhkaZ
https://dl.doubtnut.com/l/_1R9cznFAXX6t

7. The ages of A and B are in the ratio 4: 3 After 6
years. Their ages will be in the ratio 11:9, as

present age is

o Watch Video Solution

Test Paper 7 C

1. Fill in the blanks.

(1) —2a3bis a....
(2) (a2 — 2b2) IS A .

(3) (a + 2b — 3c) is @ weueee.


https://dl.doubtnut.com/l/_N8qlEbZo9M3p
https://dl.doubtnut.com/l/_CwBJo2L6GuMN

(4) In — bab, the coefficient of a is ......

(5) In 2 + 2z — 5the.....termis —5

° Watch Video Solution

Test Paper 7 D

1. Write t for ture and f for false for each of the

following:
1. In-x, the constant trem is -1
2. The coefficient of x inz?—3z+5 is 3.

(bx —7) — (3z — 5) = 2z — 12


https://dl.doubtnut.com/l/_CwBJo2L6GuMN
https://dl.doubtnut.com/l/_NI9pLzpTtC8p

4. (3z + 5y)(3z — 5y) = (9z* — 25y?)

1 4.1
5.1f a=2 and b=§ then value of ab(a,2 + b2)isT

° Watch Video Solution



https://dl.doubtnut.com/l/_NI9pLzpTtC8p

